
60

＝

30

＝ × 2

38 2

＝ − 8 ×③ 3 8 × 2 − 8 × 2 2

490

＝

5

10

＝ − 1 0

98 5

＝ ×

− 2 ×

5 − 2 × 5

② 9 8 × 5 ＝

180

＝

5

15

5 ＝ × 1

60

＝ × 3

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 4 × 3 × 1 5 × 3

⑦ 定着

( )

( )

( )

7



× 2

60

＝ 6 0

38 2

30

＝ 3 0

2× 2 ＝ 3 8③ 3 8 × 2 − 8 − 8 ×

0

490

＝ 4 9 0

5
5

10

＝ 5 0 0 − 1

5 − 2 ×

× 5
98 5

＝ 1 0 0 ×

＝ 1 0 0 − 2② 9 8 × 5

× 3

180

＝ 1 8 0

6 0

1 5 × 3

・ 　　にあう数を書きましょう。

① 4 × 3 ×
15

1 5 ＝ 4 ×

日にち：　　月　　日

名まえ

60

＝

⑦ 定着 答え

( )

( )

( )

7


